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%HUGDVDUNDQ�KDVLO�SHQHOLWLDQ�PHQJHQDL�VHFXULW\�DVVHVVPHQW�SDGD�ZHE�DSOLNDVL�

UHSRVLWRUL�LQVWLWXVL�SHQGLGLNDQ�;<=��PDND�SHQHOLWL�PHQJDPELO�NHVLPSXODQ�EHUXSD�

GDIWDU� PHQJHQDL� WHPXDQ� FHODK� NHDPDQDQ� SDGD� ZHE� DSOLNDVL� LQL� PHQJJXQDNDQ�

PHWRGH� 9$37� �9XOQHUDELOLW\� $VVHVVPHQW� DQG� 3HQHWUDWLRQ� 7HVWLQJ��� 3HQHOLWLDQ�

WHQWDQJ� VHFXULW\� DVVHVVPHQW� LQL� DNDQ� GLWXOLVNDQ� GDODP� EHQWXN� ODSRUDQ� \DQJ�

GLWXMXNDQ�NHSDGD�SLKDN�LQVWLWXVL�SHQGLGLNDQ�;<=�XQWXN�NHSHUOXDQ�GRNXPHQWDVL�GDQ�

HYDOXDVL� XQWXN� PHQLQJNDWNDQ� VLVWHP� NHDPDQDQ� SDGD� ZHE� DSOLNDVL� WHUVHEXW��

3HQHOLWLDQ�LQL�KDQ\D�GLODNXNDQ�GLGDODP�OLQJNXS�,QVWLWXVL�3HQGLGLNDQ�;<=��VHKLQJJD�

EHOXP� PHQJJDPEDUNDQ� VHFDUD� NHVHOXUXKDQ� PHQJHQDL� NHPXQJNLQDQ� VHUDQJDQ�

VHEHQDUQ\D�\DQJ�EHUDVDO�GDUL�OXDU�OLQJNXS�,QVWLWXVL�3HQGLGLNDQ�;<=��

��� 6DUDQ�

6DUDQ� XQWXN� SHQHOLWLDQ� EHULNXWQ\D� DGDODK� PHODNXNDQ� VHFXULW\� DVVHVVPHQW

PHQJJXQDNDQ� WRRO� GDQ� WHNQLN� SHQ\HUDQJDQ� ODLQ� XQWXN� PHQLQJNDWNDQ� SHOXDQJ�

HNVSORUDVL�FHODK�NHDPDQDQ�\DQJ� OHELK�GDODP��0HODNXNDQ�VLPXODVL� VHUDQJDQ�GDUL�

OXDU� OLQJNXS� ,QVWLWXVL�3HQGLGLNDQ�;<=�DJDU� OHELK�PHQJJDPEDUNDQ�NHPXQJNLQDQ�

VHUDQJDQ�\DQJ�VHEHQDUQ\D��


